1. BRHEREOREIZONT

MHERBOEH-E (BEET)7)

202110 A DE ZMHEHE (Fil. LNG. BAROMEE) AakEhf=C &I, 202158A ~2021510 A O FRIMERARKE = LE
LE=0T, 2022F 1A OERELTY 7ICE T HERHECERT SBHERAEBORNBTEEMOoELET,

2. EEHER
O202043A2AXMOTEMENK [EE] (SHETV7) SESHE
2021478 ~2021498 2021488 ~20214108
SEfE e
EE R B @& 44, 200 Ak
ERT 50,678 Ak 51,870 Akl
THLNG @R 58,003 At 61,936 At
T 19 B A D 15,185 At 16,693 At
T BB R E 39,500 Ak 47,900 Akl
3. MEEREHME
O LA R RS L EE B A THY £,
OEEHS (100VEFI£200V) DEEEEDHEA
BEEE TS E=RNEREREx ERENE (i)
K 2021128 5 2022481 % i
EERE ( HASTEEH00R)L F F 1 (F2007K)L FDIBE A1 M09 8 A 0 M 53 & 0 M 56 £
OBEE (6,000V) # & UHRIME (20,000VELE) HROEESEORE
BEENESE=RNEREEx ERENE (i)
K 20215128 5 2022481 % i
BELES ( PBATEAS, 000HL R DBA A 1058 A0 528 0/ 53 8
BRI ( BHATIEA0, 000K L  BLEDBA A1HO0E AO0MS5 & 0 M 53 &

ttmaEhtkA&t



